
Product Installation Instructions 

Form No. OB-S3-07/ Issue No. 1 / Issue Date: 18/10/2011 / Authorised by: GB 

Product :  Aspect 57HB—59HB 
 

 Date  
Updated 

:  
02/09/2018
 

Aspect- 57HB with power Aspect- 58HB with power Aspect -59HB with power 



Product Installation Instructions 

Form No. OB-S3-07/ Issue No. 1 / Issue Date: 18/10/2011 / Authorised by: GB 

X 8 X 4 

Upper and lower screen units with screen 

fixing brackets pre fitted (both sides) 
Support Plate 

Seating units with screen fixing brackets pre fitted. 



Product Installation Instructions 

Form No. OB-S3-07/ Issue No. 1 / Issue Date: 18/10/2011 / Authorised by: GB 

Orientation of support plate 

See next page for detail 

Note for Cwtch 57 seats to be spaced 

750mm apart. 



Product Installation Instructions 

Form No. OB-S3-07/ Issue No. 1 / Issue Date: 18/10/2011 / Authorised by: GB 

Fit 4 off M8 x 45 long screw 

Leave protruding approx. 20mm 

Support plate 

Fit M8  x 45 screws to each unit (8 off in total) 

Orientate support plate as previously shown, lift one end into position 

and locate slots over screw. Hold in position and fit M8 washer and 

nut loosely in two positions shown. Repeat for other side, unit may 

have to be positioned to locate support plate over screws. Then fit re-

maining M8 washers and nuts and hand tighten all 8 sets. 

M8 washer and nuts to be fitted to 

 outer fixings first, both sides. 

Requires 13mm spanner. 



Product Installation Instructions 

Form No. OB-S3-07/ Issue No. 1 / Issue Date: 18/10/2011 / Authorised by: GB 

M8 Washers and nuts hand tightened in position. 

Typical both sides. 



Product Installation Instructions 

Form No. OB-S3-07/ Issue No. 1 / Issue Date: 18/10/2011 / Authorised by: GB 

Position lower screen and slide into position ensuring that 

the dove tail brackets engage on both sides. This will require 

a certain amount of manipulation to force the lower screen 

to rest on the support plate. 

Lower screen in position 



Product Installation Instructions  

Form No. OB-S3-07/ Issue No. 1 / Issue Date: 18/10/2011 / Authorised by: GB 

Fit M8 socket head screw using 5mm Allen key (4 places). 

Manipulation of fixing holes with use of suitable tool  may 

be required to allow alignment of screw hole and plate. 



Product Installation Instructions  

Form No. OB-S3-07/ Issue No. 1 / Issue Date: 18/10/2011 / Authorised by: GB 

CWTCH 54HB, CWTCH 55HB & CWTCH 56HB—support plate for 

shelf must be fitted at this stage using 5 off M6 x 35 POZI CSK head 

(7004-0013) 

If required Shelf bracket must 

be fitted before centre upper 

screen is fitted. 

See next page for 

screen fitting. 

If any cables are to be fed through to the 

upper screen , then they should be fed 

through the lower screen at this time and 

then fed into the upper screen as installa-

tion progresses. 



Product Installation Instructions  

Form No. OB-S3-07/ Issue No. 1 / Issue Date: 18/10/2011 / Authorised by: GB 

After fitting the screens to the corresponding seat, position the centre upper screen and slide into position ensuring that the brackets 

 engage on both sides. This will require a certain amount of manipulation and force to engage the location pins into the corresponding 

location holes on the lower screen and to force the upper screen to rest on the lower screen. 

Fit each Screen to the seat unit by inserting the 4 pins 

into the corresponding holes. Ensure correct orienta-

tion of the screens—dovetail brackets must face each 

other to accept the centre top screen 



Product Installation Instructions 

Form No. OB-S3-07/ Issue No. 1 / Issue Date: 18/10/2011 / Authorised by: GB 

CWTCH 51HB, CWTCH 52HB & CWTCH 53HB—

support bracket for table to be fitted  using 3 off M6 x 

35 POZI CSK head (7004-0013) 

If required fix 

Table bracket 



Product Installation Instructions  

Form No. OB-S3-07/ Issue No. 1 / Issue Date: 18/10/2011 / Authorised by: GB 

Secure leg to table top using 4 off M6 x 16 socket cap 

head screws. 

Secure table top to bracket using 3 off M6 x 30 POZI 

CSK screws 

Typical for CWTCH 51HB, 52HB and 53HB 

Ensure leg points away from shelf fixing holes. 



Product Installation Instructions 

Form No. OB-S3-07/ Issue No. 1 / Issue Date: 18/10/2011 / Authorised by: GB 

Typical for CWTCH 54HB, 55HB and 56HB 

Secure Shelf to bracket using 5 off M6 x 16 POZI 

Pan head screws 



Product Installation Instructions 

Form No. OB-S3-07/ Issue No. 1 / Issue Date: 18/10/2011 / Authorised by: GB 

When Lower frame is fitted with a power 

module which has a VGA & Audio cable, 

and the upper panel is fitted with the TV 

bracket. Cable is to be routed inside of 

screen during installation. 

Position of built in mounting panel 

within top screen 

TV Bracket mounted centrally onto top 

screen. Front view. 

View on underside of screen show-

ing exit points for cables 

On 414mm centres. 

Width 740 on Cwtch 57, Width 

990 on Cwtch 58 & 59 



Cables exit from lower screen in the 

circled areas shown. 






	Aspect - cable exit
	OB-S3-07 Installation Instructions updated 140217
	Orangebox
	Tilting monitor bracket - TMB-01 Instructions

